= AH O
N = 0 &8 AF S & Al A
20128 20Aa LBHSIH BH1 ~ oFa1t
A Sh=1
. WREs
SRl WWEHH X = (6ta=1) (&2 &)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
of =1t 29,199,033 25,886, 101 3,312,932
= 18,131,000
o= 99,000
Al 10,969,033
MNREs 29,199,033 25,886, 101 3,312,932
= 18,131,000
< 99,000
Al 10,969,033
LHE HeHXI & (ot 4=1t) 29,199,033 25,886, 101 3,312,932
= 18,131,000
< 99,000
Al 10,969,033
St Xl MIlAld 29| 1,500,000 7,756,000 6,256,000
404 2I|G X 2EE2 1,500,000 7,756,000 6,256,000
01 ZIIEEEIAHN=2NE2 1,500,000 7,756,000 26,256,000
Odt+EHAXMEAIE 22H I8
1,500,000, 0002 * 14! 1,500,000
ol SYEH X M&E2 1,721,033 1,713,101 7,932
R IPSE—= 1,721,033 1,713,101 7,932
01 2IIUELEFHBNFEZ 1,721,033 1,713,101 7,932
OF %X & oldAH SEEA 22|
234,540,000 » 14! 234,540
O&4YUX & otddH =& J|12&F |
436,493,000 14! 436,493
Ol=ZEZx 2dH|(HII22 S)
200,000,000 * 14! 200,000
O=sgtole=HMel&d 29H(HIIL2 8)
250,000,000 14! 250,000
Oddlotz=HMeld 24H1(&IIe2 5)
600,000,000 14! 600,000
AT =SOE 0265 HMelAIZ&Z At 1,376,000 712,000 664,000
= 963,000
Al 413,000
404 B H2NE= 1,376,000 712,000 664,000
= 963,000
Al 413,000
01 2IIUELEFHK=2HES 1,376,000 712,000 664,000
OJAYE SOHE0I20H4ES MAIE 2 A
1,376,000, 0002 * 14! 1,376,000
= 963,000
Al 413,000
2005 BTLGI=2t 1™ HIAIY 2UHES(EX) 5,742,000 5,735,000 7,000
= 3,855,000
Al 1,887,000
404 2I|H X E2EEZ 5,742,000 5,735,000 7,000




S BTt
ol Wees

el WRHHXIS(St==11) (98

OH
i

SN CR(EH) - NRAY - BES ]

22
=2
Rl
12

==

S

Ol

0

3,855,000
1,887,000

= W

01 BIIHEEHN=2HES 5,742,000 5,735,000 7,000
02005 BTL ot=2tHEHIAIY U=
5,742,000,000& » 14| 5,742,000

= 3,855,000
Al 1,887,000

a3 ZJIRFHMLAE EXAY 5,363,000 1,835,000 3,528,000

= 5,163,000
Al 200,000

404 S H=dES 5,363,000 1,835,000 3,528,000

= 5,163,000
Al 200,000

SE3AN=EES 5,363,000 1,835,000 3,528,000

Ojﬂl
w2

,363,000,000& * 14! 5,363,000

5,163,000
200,000

W

=

HAOIZ ot=HMel2+ HAHXMel AIZAY 408,000 1,105,000 697,000
340,000
68,000

oW

404 SIIHN=2HES 408,000 1,105,000 A697,000
340,000
68,000

SRR

01 BIIHEEHKN=2HES 408,000 1,105,000 A 697,000

OU20lZ ot=HMel2+ HAX™ME AIEAY

408,000,000& 14! 408,000
340,000
68,000

o

2006 BTLOI=2HEHIAIY LUHS(EX) 6,572,000 0 6,572,000
4,595,000
1,977,000

= W

404 SIIHH=dE3 6,572,000 0 6,572,000

4,595,000
1,977,000

= W

oy

6,572,000 0 6,572,000

01 SIIHEEAHN=ZEE
i ~

02006 BTLot=2tHE

cn:
>

R

o

o

S

,000& 14 6,572,000

4,595,000
1,977,000

= W

HT
oo
o
o
ol

=Xl AlE DEXel AIES A 310,000 0 310,000
155,000
31,000
124,000

= H W

404 I N=2HES 310,000 0 310,000

155,000
31,000

o

|
no
|




S A o1t
N HRes

Sl LRI KIE (G4 1) (e &2
- HAc =
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
A 124,000
01 BIIYSLIANN=HES 310,000 0 310,000
OsgBTot+ ML DT HE SIIALY
310,000,000 14! 310,000
= 155,000
= 31,000
Al 124,000
SYWSEIZ AT 5,100,000 2,400,000 2,700,000
= 3,060,000
Al 2,040,000
404 BIIATIEFHES 5,100,000 2,400,000 2,700,000
= 3,060,000
Al 2,040,000
01 RIIYSLSHNZHES 5,100,000 2,400,000 2,700,000
OSYH+BIZ NETA
5,100,000, 0002 *14] 5,100,000
= 3,060,000
Al 2,040,000
051,06 BTL AR 2% SIBOF AL} 248 60,000 30,000 30,000
404 2 AR2HES 60,000 30,000 30,000
01 BIIYSLIHN=HES 60,000 30,000 30,000
020051 ,20061 BTL AR 29 SDHEIL 24
S +4E 15,000, 000! »43] 60,000
St MR S HFHIZA 402,000 0 402,000
404 2 AR HES 402,000 0 402,000
01 BIIYSEIANN=RES 402,000 0 402,000
OBt M= G421 UMY
402,000, 00024 *14! 402,000
ST AlEERl 2 |XES 190,000 300,000 ~110,000
404 BN HES 190,000 300,000 ~110,000
01 BIIYSLINN=HES 190,000 300,000 £110,000
Odt4+E M+, s2=7, =4
100,000, 00024 *14] 100,000
OR)S2EY FH 54T JHIBA
30,000,0002 * 144 30,000
OSgAMIHe T ot+T HEBA
60,000,002 * 141 60,000
ol Y ALE B 170,000 0 170,000
404 2 AR HES 170,000 0 170,000
01 BIIYSLINN=HES 170,000 0 70,000
OREX IIABDY ZHTA
50,000, 0002 * 141 50,000
OSHBIF SZWLZA 120,000,0008 14! 120,000




S M ot==1t
M Jees

chel: R HHXI E(5t=12t) (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
=8 T& A28 2l 100,000 0 100,000
404 BIIAT2HES 100,000 0 100,000
01 SIS AN=ZHNES 100,000 0 100,000
OH+EIZY S4X ELZA 100,000,0002 100,000
2005 BTLAIY ZZR3(HAEHIXNY Q3:=3RY 35,000 0 35,000
HEMA) -2, 8E3 S
404 BIIAR=2HES 35,000 0 35,000
01 BIILSHAN2HNES 35,000 0 35,000

X
02005 BTLAIY DRI (H4EIHUQSS
0002

HRYA5H L) 35.000,0002 35,000
QUUH NS CCTV & XIBA 30,000 0 30,000
404 BIIG T HES 30,000 0 30,000
01 BIYSLIANN=HES 30,000 0 30,000
OYA& IS CCTV HXIBA
30,000, 0008 * 144 30,000
AU £AXHE BABI AEDA 70,000 0 70,000
404 BIIGTEHES 70,000 0 70,000
01 BIIYSLINN=HES 70,000 0 70,000
OYAR +AXHES WAHID MLTA
70,000,008 * 144 70,000
SHHSBIR 42 FuIBA 50,000 0 50,000
404 BN HES 50,000 0 50,000
01 BIIYSLINNSHES 50,000 0 50,000
OLOH+BIY 42 JHIZA
50,000,002 * 144 50,000




